CM1 ~ S ' MQmSWQOQO“CM4

ZO0——=0mxuxuOO §
N

Conjugaison : b %me,
= Moo nosun ef moi, Roivinons lo dessent.
= T veront absents.
Grammaire:fW%MM
N M%W%W%WW

—%Mﬁe/rmd’qﬂuabm@@mm.

~ Urne sounin uecﬁamue

Nombres:fw%wca‘mw
@)%m_mun&m@%%wmmaw@'m(@ewdgwQ@boﬂ@atedmﬁmoﬁan..)
ebtrohbwaée%wwé%uﬂeu?

O)Qw’i/nd&o[uegedénammbetub?
Nombres - ﬂammﬁ»m/w%a 99 999
soulaibes.

25 028 =mwa;7am¢md&efwfm
20000 + 5000 + 20 + 8

ow (2x10000) + (5x1000) + (1x 10) + (8x 1)
ow 25 m + 24 + 8u




78 899 =W,m,m,m%m,mfwfwfmw%
70 000 + 8 000 + 800 + 90 + 9
ouw (Zx10000) + 8Bx1000) + 8x100) + 9x10) + (9x 1)

ow 78 m + 8 + 94 + 9
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10 000 + 5 000 + 200
ou (1 x 10 000) + (5x 1 000) + (2 x 100 )

ow 15m + 2¢
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10 000 + 2 000 + 80
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30000 + 9000 + 900 + 90 + 8

ow (3 x10000) + (9x1000) + (9x100) + 9x10) + B8x 1)
o 39 m + 9 + 9 + 8u
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3064 x 4 = 7 859 x o= 1033 x 7 =
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Calculs : & mu&{//vﬁcow a deucc cﬁzﬁ&w
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39523 x23 = 1086 x 42 = 2 745 x B3 =

5002 x 17 = 4 208 x 83 = 7 412 x 66 =




